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1. For the straight beam shown in Fig-1, determine 4. Anl-beam is subjected to a bending moment 50000
N-m and a vertical shear force 10000 N, as shown
in Fig-4. The cross section has width b=10cm,
height h=16cm, and thickness t=2cm, determine the

(@ equations for the dope and deflection, at an
arbitrary point along the beam, (6%o)
(b) the location of the maximum deflection, and

(6%) maximum tensile stress (10%) and the maximum
(c) the magnitude of the maximum deflection. shear stressin the beam. (10%)
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2. A beam of flexura rigidity El is loaded with a Fig- 4

concentrated force P and supported on two springs
K; and K, as shown in Fig-2. Find the deflection

under the load applied. (20%0) of Fig-5. (20%)
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3. An element in plane stress is subjected to the
stresses o =15 ps, 0 ,=5ps , and 1,y =12 ps, as
shown in Fig-3.

(@) Determine the stresses on the element inclined at
an angle 6=45°. (8%)

(b) Determine the principal stresses. (7%)

(c) Determine the maximum shear stresses. (7%)
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5. Draw the shear force and bending moment diagrams




